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Pre Calculus 12: Se€tio!lZ-Horirontal and Vertical Translations

1. lndicate the transformation frorn the function on the left to the function on the righti

,ii 7 ;:: b- r("{+2
IV.S. 6U oR,U.S.2L.

e) y =,1r --> y = vr s3rr-r-3r t I

= @+r)3

; @ta)2t 3

-1- -':V' l ^y = - -) J'= ------: + J

2. Given th

afteT the transformation:

.r =l|: 3l+2

tGr- b:1
ii) 1' s...1-(-rr l)+ 2

-- )={[oc't!.1a

y= t$ +1\-ti.'

@u-'i
3. 6iven each eoi6tion for t . l (t), indlcate tne newe!uation a ch translation:

{rr\. rQr"i"- z*3 = 2(as.sf. \l =@8@{y
A horizontai shift of 7 units right and 6 units down

i,--.---_-ltot) )tx-=)-= . ,-o .lla.-r: -i7
A horizontal shift of 11 units left and 2 units down

l!t= z'"' . ) .t \t",,
e r: r 1 - 16 Ahorizontat \t^ihof 4u "t,.rnriifruO

=- q*o;-' uP c^ ur]r. ,

l2-*' . (3 ')1 (o; $'.6-rq'-,. 
.

copyriShtA RiShts Reserved ar Homework Depor wu!y_E!u-d!l1!a t't,L)= (o";"tt" *

a. ./(r).' 3-t s A horizontal shift of 3 units right and 2 units up

lG)= z(ry-z) -5+2 = t{x-)-2.
b. / (r) -- 2.rr I I A hortzontat shift of 5 units teft and 8 units up

c. /(x) =./.r- s + r

a ./(.r) ..3', + 2

+5. b+?

Co",,e
1

o) r'=.6+r'=r,{i+: I
S\'li /r."d.,*ru- 2,^,,o r +t ..!" l\-E. 3L

[H E" 5l .-uS- zu



r. /(x)= I

{")'
\/

6i-"
4. Giventhatthecoordinatesofi2,3)istransformedto(8,4)from y=.1 (x) > y = J (x - a)+ 6, what is the

A horizontal shift of 2 units left and 6 units down

A
x

valueofa+b? (:,:)--, Lc,0
rl.s. 6R
{. s. lu

Given the graph of -r = / (-r), draw the resulting image afler each transformation:
i

y={rc):-- u={o-e\*r
l_f=E.b.m--=

ii) .r,-2= /(.r+3) s
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rE'' ' *l i)r-ilr ]l ,t r\.S. lRFrd<' lg2,..t*[r,s,, T v.:. ru
Il r'-J= llr+ I

I

,r) - (t,s)

,l 
i

i) .r'..,1+ /'(-r + 4) 2

/\

Vr\
i) ,, r-l(y-,r)



/ l,g ont \un;.
b. Grvel the followilg transfoflndrion. .t - / (y) -'l . /( i) , whr( h pquatio'r

| <2 ii)y=a. 12,2 '' 2n+'l

below will remain the same?

vi) I = 3(2' )

) = .r" 'f >r*-cxrr"l or.lor3 J" x-c,xis. fh, r*;"= n jc*.
7. Solve the following equations algebraically for "x". Then use the grid on the left to graph each side ofthe

equation as a separate function. le: Y1 is the left side and Y2 is the rlght side ofthe equation. Use the graph

to find the intersection points: indicate all the extraneous roots. Only use Graphlng TechnoloSy to check:
I - l'c-21

3x+l
a) .r .l+l=-

)
Ole \.

1L-)t\=

w
-4+a+\-

azg
e@-\=2"-z

1t.;--2*<3
)4!L
tz-)l

@,t)-t+,)

(3o*l .o\nn-,
og ro.lil.

5(a-"r\?,,1.s
\5- Sac = 3 oa+ j

n,-L*r=r,-,-'r I - -"-

\ r L* =rt.,x.-l

*= c("-)
. -2

4(x-r) = |

4t-Xrc+c=t
]rot-Xnnz--o

&q.6,*)

,x=7!181$.

l"
I

I

I

I

I

'5-\z'2-
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Wi=a-?
.it--t . @,-zf+ z-l= *'-(ya3 + x'-1a+tp

@z @-ztor-s)=o'
tTl'- 

"-. 
2' '-)

hJ, o sr-. o""^, , a'-s

.o':)=(:.)(0r,.$ =(a,r)

ct ..6J=l* :l
cak!

.rt- 6f -o * .r. -o

4 u- lz19

*)=,x***4-> a -f,= c,v
.7

=/z-
r I l +-.1--+--1.-+ i

CatLo

f, +2- -*-3-, tl- ct+Z+Ln:o

e(draneors aort

o + aa'll

?-d=L-r,D
, , o, )--(r ,3)
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-4*l'y'=> -Z -) -',t =1* - b

,
.L= 2oL - L

ir.o,-q.rr)

8. suppose the point (a,b) i5 on the function from the eft. what will the point become after the transformation

shown from the iunction on the riBht / ndicare a I possible answers: ftqgq=aossrble answerq: l rJ-de "\ r.-

@, 1,.r I - r (()- 1t#l^" =+t =
o*r, ,,,\^ c*L ^ "'t';:.::)t'S.*j

.=#- s-+&-T].". '#rg .- ,="i -+-14i

6,$ - (o - +, L) @,u)-- (a, b -:e.).r.J 4.b) --(o-+, u-*-

)GD=1o4, b:t"-___----7
I *{= -: rir',r'.<1. . =]t-'x. e .x-t t1,,,,1 r..

a* l,

9. The parabo a .1,= .\' ,1r I I is translatecj 5 units rlght. ln this new the equation of the parabola is

! = xt -l4x + d . what is the value of "d"?

)= *'- r+*..j ----- U= t/-+ *(x-5,-Z. Cc'-\,.tz.n:*>-Llx*)ot3 - x"-t**+ V8

/-W-n={-s*<*t:-

tzl+ 4.

-r1* {

10. lf 0 L - ]6(,0 and cos{r:, I ) --sin t. wtrat r

$,u. 1o =\\ S 6*s! J co z \"
\i!i, A. 

^."r'.+lv+re,]:"-ryh--., L^"1 h4bi''t)2-? - " l'::r = 2J-O .. +'e
qfr ,. *J* a"\X-," \ '*-;$: i, ..on b,.i" :i .-" 7_.
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11. The function /("t) has a perioO of a. The graph of one period of y = /(.r) is shown in the diagram betow.

sketch the sraph or .r = [ /'(.r- r)+ I (-r+3)] ror -2 <r<2. f =[ Q(r*).,0(".t)l

r=f,(t 'e)

(

3' J(a-r)

l^ o,Aer * {,.,.-.$(r.t)'t("-,L *
o.ro\op" tle ,&. '[ & 'i,"pl^.

S,.e l(2") *l {r..+) a,e ,&z,ti-l,
vr e"d \ p *,rl rl/ffr-,)) J,.L

d , s\ L"t\.es <rlt nP 
-o". 

Z"- I *"tes

r. g,' -. nk C,"rl^ o L*.
Fu exa,nple. "- l^"" 6,-r)

AND (*.".\ , so

(o,-rr)= (q,.t) ,^

o.f[.

{0.-,J
it""-

,c ;ll
C\"-.

$".1
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